1. (13 pts) Evaluate the integrals. If you do a substitution in a definite integral problem, you must

show me that you can appropriately change the bounds to get full credit. Simplify your final
answers.
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2. (10 pts) (The two problems below are NOT related). Simplify your final answers.
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3. (13 pts) Leave your answers in exact form, but simplify your final answers.

(a) Consider lim Z 1+ % § Rewrite this as an integral and evaluate the integral.
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(b) Consider g(z) = / 24 -+ tsin(7t) dt.
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i. Find ¢'(1).
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ii. Evaluate g(1).
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ili. Give the equation for the tangent line to g(z) at z = 1.
_ (Write your answer in the form y=mz-+ b)
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4. (12 pts) (The two problems below are NOT related). -
(a) Find f(z), if f"(x) =28¥z — 6z, f(0) =5 and f(1) = 10. Put a box around your answer.
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5. (12 pts) Consider the region, R, in the first quadrant that is bounded by the y-axis, the circle

2% + % = 4, and the line V3y — z (shown below). You are given the picture multiple times for
ease of labeling. Use any correct method.

(a) Set up (but DO NOT EVALUATE) an integral for the volume of the solid obtained by
~ rotating K about the z-axis. ore
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(¢) Find the volume of the solid obtained by rotating R about the y-axis. Hint: Shells?‘<
Set-up AND evaluate. ”
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